Choose the correct meaning of each of the sentences below:

1 If we had done a better job of protecting the Leopard reserve, then it might still be here today.

a We didn't protect it, so it isn’t here today.

b We protected it, it is here today.

2 If they had met us ten minutes earlier, then we could have better theatre seats than we have now.

a They didn’t meet us ten minutes earlier, so we have good seats now.

b They didn’t meet us ten minutes earlier, so we don’t have good seats now.

3 If I was better at maths, [ might not have done so poorly on my exam.

a I am not good at maths, so I will do poorly on my exam.

b I am not good at maths, so I did poorly on my exam.

4 If we didn’t think that you would be able to do the job well, then we would never have hired you!

a We knew that you would do a good job, so that is why we hired you.

b We knew that you could do the job well, so we didn’t hire you.



